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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

[˝Á◊SLÓ ( Commerce ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

ªbúˆ Yy ( 6th Paper : Business Management &  
World Resources ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70%) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

Y^ÔÁÃ^¯ - 1 

◊[˝\ˆÁG — Eı 

               Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 20 × 1 = 20 

1* [˝Ó[˝ÿöˆÁYXÁÃ[˝ aÁW˝ÁÃ[˝S X›◊Tˆa]…c˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* 20 

2* Eı) ]X«bÓ`◊N˛ Y◊Ã[˝EıîXÁÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ c˜Ã^ ÂEıX ?  

 F) ]X«bÓ`◊N˛ Y◊Ã[˝EıîXÁÃ[˝ Yà˘◊Tˆa]…c˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

   8 + 12 

◊[˝\ˆÁG — F 

              Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 12 × 2 = 24 

3* Eı) ]…_W˝X EıÁPˆÁ„]Á [˝_„Tˆ ◊Eı Â[˝Á„MıX ? 

 F) ]…_W˝X EıÁPˆÁ„]Á ◊XW˝ÔÁÃ[˝„SÃ[˝ ◊[˝◊\ˆ~ ◊[˝bÃ^ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 4 + 8 

4* Eı) ◊[˝p˚ÁY„XÃ[˝ aep˚Á ◊VX* 

 F) ◊[˝p˚ÁY„XÃ[˝ ]ÁW˝Ó] ◊X[˝ÔÁªJÙ„XÃ[˝ ◊[˝„[˝ªJÙÓ ◊[˝bÃ^m◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8  

5* Eı) =dYÁ◊VEıÁ `◊N˛ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

 F) =dYÁ◊VEıÁ `◊N˛ [˝ ◊à˘Ã[˝ ◊[˝ªJÙÁ^Ô ◊[˝bÃ^m◊_ ◊Eı ◊Eı ? 

   4 + 8 

◊[˝\ˆÁG — G 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 6 × 1 = 6 

6* ]L«Tˆ ◊XÃ^‹óˆ„SÃ[˝ =„ï`Ó ◊Eı ◊Eı ?  6 

7* ◊[˝YS„XÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ =‰{F EıÃ[˝”X* 6 
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8* ªJÙ_◊Tˆ ]…_W˝„XÃ[˝ %UÔ aeÿöˆÁ„XÃ[˝ Y“W˝ÁX ªK˜'◊ªRÙO =da a∂ëˆ„μ˘ 

ae◊l˘ä ◊[˝[˝Ã[˝S ◊VX* 6 

Y^ÔÁÃ^¯ - 2 

◊[˝\ˆÁG — Eı 

               Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 20 × 1 = 20 

9* a+„VÃ[˝ EıÁ^ÔEıÁ◊Ã[˝TˆÁ Tˆ√º¯ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 20  

10* Eı) \…ˆ◊]Ã[˝ E ı◊b„^ÁGÓTˆÁ EıÁ„Eı [˝„_ ? 

 F) \…ˆ◊]Ã[˝ E ı◊b„^ÁGÓTˆÁÃ[˝ Y“ÁE ı◊TˆEı a›]Á[˝à˘TˆÁm◊_              

◊Eı ◊Eı ? 4 + 16  

◊[˝\ˆÁG — F 

              Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 12 × 2 = 24 

11* [˝Á◊S◊LÓEı VÁXÁ`aÓ E ı◊bÃ[˝ È[˝◊`rÙÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* 12 

12* E ı◊b C aÁ]Á◊LEı [˝Xa LX a+„EÔı W˝ÁÃ[˝SÁ ◊VX* 6 + 6 

 

13* EıÃ^_ÁÃ[˝ mÃ[˝”±ºˆ C [˝Ó[˝c˜ÁÃ[˝ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

◊[˝\ˆÁG — G 

             Â^-ÂEıÁ„XÁ AEı◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX* 6 × 1 = 6 

14* a]«‰V–Ã[˝ %UÔÍX◊TˆEı mÃ[˝”±ºˆ ◊Eı ? 6 

15* %Y“ªJÙ◊_Tˆ `◊N˛Ã[˝ =dam◊_ ◊Eı ◊Eı ? 6 

16* V«Ñ˘◊`„îÃ[˝ %X«E…ı_ %[˝ÿöˆÁ a∂ëˆ„μ˘ W˝ÁÃ[˝SÁ ◊VX* 6 
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English Version 

 

Section – 1 

Group – A 

  Answer any one question. 20 × 1 = 20 

1. Discuss the general principles of management. 

   20 

2. a) Why is manpower planning necessary ? 

 b) Discuss the methods of manpower 

planning. 8 + 12 

Group – B 

  Answer any two questions. 12 × 2 = 24 

3. a) What do you mean by capital structure ? 

 b) Discuss the various factors of determining 

capital structure. 4 + 8 

4. a) Define advertisement. 

 b) What are the factors of selecting the media 

of advertisement ? 4 + 8 

5. a) What do you mean by productivity ? 

 b) What are the factors responsible for 

increase in productivity ? 4 + 8  

Group – C 

  Answer any one question. 6 × 1 = 6 

6. What are the objectives of inventory control ? 6 

7. State the necessity of marketing. 6 

8. Give a brief idea about six main sources of 

finance regarding working capital. 6 

Section – 2 

Group – A 

  Answer any one question. 20 × 1 = 20 

9. Discuss about the functional theory of resources. 

  20 

10. a) What is cultivability of land ? 

 b) What are the physical factors limiting 

cultivability of land ? 4 + 16 
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Group – B 

  Answer any two questions. 12 × 2 = 24 

11. Discuss the features of commercial grain 

farming. 12 

12. Give an idea about agriculture and social 

forestry. 6 + 6 

13. Discuss the importance and use of coal. 6 + 6 

Group – C 

  Answer any one question. 6 × 1 = 6 

14. What is the importance of economic significance 

of sea ? 6 

15. What are the sources of non-conventional    

energy ? 6 

16. Give an idea about the favourable conditions of 

dairying. 6 

    


